' CHEMISTRY SSC-
- SECTION — A (Marks 12)
Time allowed: 20 Minutes
Section — A is compulsory. All parts of this

section are to be answered on this page and

handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.
Do not use lead pencil.
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S e tve s LS L 2L, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum:

Candidate Sign.

i

i | Question Jir A B c D A 1 B l c | D |
48gram of Magnesium (Mg) contains 1. i
1 atoms. -N N 2N 4N, O
T St (Mg dpsiuiSaar Sag| 2 * : ! ! © O O
They are the iThey have They have
Which statement about '¢.X and ' is NOT|They are sadl same number |same number
2. TRUE? isotopes elemeant of electrons  |of neutrons O O O O
e e nieud e al Y G X [T, A o Az gL
An  element having given electronic
configuration belongs to:
Group=l Group=ili Group=| Group=Vll
6
3. }823252,21? 35" Period=3 Period=1 Period=7 Period=1 O O O O
e Fere G5 B A S A L= S 32k M=/ ks =S 72he (Ve S0 ks
Which group has its valence shell electrons 4 } ] _
4 ins-sub 'g.heli? Group 1-A Group HI-A [Group V-A Group VII-A O O O O
vt L s HIEE S Ln S etnitn 1A W-Aus/ V-Aga) Vit-Ags
Identify the ionic compound:
5 S Y T et CH, KBr HCl H,0 o O O O
The ionic sign of an element A of group V-A
g. of periodic table will be: A g A 4% O O
??ﬁbu}fgﬁ(Aﬁ"‘»—Q&V-A ?J)'Z.d;‘?dm O O
A liguid boils when its vapour pressure
7. becomesequalto: {760 cn Hg |1 Pa 0.1 atm wiskra L O O O O
—etlensal ERL T PR o Ty o
Determine the molarity of a solution
containing 20g NaOH in 2dm’ of solution. 02514 05 M
B §U¥utcrit NaOH p/a0g 2dm® £o¥ g 2 M 1M ' ' o O O O
‘q/g}"‘jgr
In ZrnO , the oxidation number of Zn is:
9. ’ . +1 +2 -1 -2
te AR Zn b ZnO O O o O
What is being reduced in the given
reaction?
10. H,S+Cl, — 2HCI+§ ct, H,S HCI § o O O O
PRI, VNI TN PP
Which of the following will have maximum
11, ionization energy? Li Na K REb O O
?{fﬂ{!‘/’dﬂ ""fb_fruhid.-%/::-dn}fw: O O
Which of the following halogens has highest .
12, oxidizing power? lodine Bromine Chiorine Fluorine O O O
?%%Jskugflwuyéwﬂcﬁ}:&ufmg_,fu'%.u et e q::b/ g oF O
—18A- 24005-10051 (B}—
SUPPLEMENTARY TABLE Page1of1 Avogadro's Number N, =6.022x107 |
Atomic No T 1 3 [ 3] 2 17516 | 7 ] 8] e | te]ir] i2 |2 [14]15][16] 17 | 18 | 18 | 20
Symbot H He i Be B c N (@] F Ne Na Mg Al S 4 S cl Ar K Ca
D Mass No 1 | e l2l o a1 [a2]3a|16|1g}20 23} 24 |27 | 28|31 |32 /355]40]39] 40 D
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SECTION — B (Marks 33)

Q.2  Attempt the following questions. (11 x 3 =33) AL M2 Latirs s 24 i
(i Differentiate between a compound and a mixture. Convert the following units accordingly:
_L[fu‘t;{j/'uyﬂﬁoxl’ulj/ 1.5 _u_’/df);ff,gu}au
" + OR 1x3
15 (a) 850 mmHg to atm (b) 560 torr to cmHg
{¢) 1.25atm to Pa
(i) Identify the branch of chemistry that deals with Briefly explain the following solutions:
following examples: ' =u_’ S i 5] SI¥ it
S ERESSS A e Ut :
a Use of wet processes in.cement production. a | Saturated e
. . JEIbuR A7 tffdl‘fd’ =l 3| OR b | Unsaturated ol g i 1x3
White vapours appear when NH,Clis heated. ¢ | Supersaturated ey dl«“ff
¢ Oxygenis produced during photosynthesis.
_4‘..(? 0, sl purgiipags
{iiiy | Write electronic configuration of the following In which block, group and period would the fallowing
elements: elements having electronic configuration be placed? | 1.5
(@) j7CI(b) {}Na (c)j Ne 03 | OR @1’ (b)1st,257,2p" o
_gf-dgcﬁugu:.ﬁ}g'd//l."o;bu Tf—u‘l{Jd5;/_".-):lfaﬁJﬁJf/VLlsﬁugifuﬁf‘ghﬁbu .
{iv Draw Behr's model for the following atoms indicating Briefly explain Octet and Duplef rules with suitable
the location of electrons, protons and neutrons: examples.
{a) Carbon (C) (b) Magnesium (Mg) 3 | OR LS et B LIS D b T 1;5
Lty ol oy :c)l/".’-.jf N0 u:/b, UK gy c_i... LUt o 15
SN S
v) in bri TN Fermentation of sugar cane produces 95% v/v of ethyl
Explain briefly. 'J'/'"’L“/y’ alcohol called rectified spirit. What does 95% viv
a Periodic Law WSz mean? Which concentration unit is it? )
b Group oF 1| or | erkela o dnnf IS 05% Vive T IL | 0
c Period of modermn La L Juelmse o iy //‘r S 2t A = 95% viv 2
periodic table
(vi) |Differentiate between diffusion and effusion of gases Write empirical formulas of Nicotine (C,H,,N,) and
with examples. 1.5 . 1.5
. ) .. . o o oRr | caffeine (CH N,0.}. +
,q/’}fLz[.u;l;-aou:gfujut_«-»z.’_u;,_-ﬁimlu;,;'ii.j /f 15 . .| 15
| : i B 1 E (CH N,0,) o2 st (C LN, A
{vii) What is meant by boiling point? Can water be boiled How many moles of H, are present in a balioon filled
at70"C? If yes, how? 1x3 i OR | with 10g of hydrogen gas? 1%3
- | i 3 e ~5
v iUt P, 70°C SO S e e 505 15 SLuslr EL H, Fetie ged Pt /10
(viii) | Draw electron cross and dot structures of following What are allotropes? Briefly explain allotropic forms
molecules: 15 of phosphorus.
(@) H Y (b) C,H, 1+5 OR ..J_fwl}:/’;? JUﬁuﬁl)ﬁlJJ;ﬁ’ﬁ?wZ_Kgﬁl)ﬁ! 1+2
LA oS e L s |
(ix) |A flask contains 0.1 M KQH solution, what mass of Describe the nature of an electrochemical
KOH s present perdnt’ of solution? PrOCesSes. L
& 5 - WA el ! - ‘-f
Ut A dm’ Lie sz F b KOH 0.1 MUE L x3 | OR Loled DEST 1K AT o3
WU KOH
{x) Glucose easily dissolves in water but Gasoline does What is oxidation state? What is the common
not. Why? Explain briefly. 15 oxidation state of group !l and group VII elements in
_u_“/u_lg,?;?ur_':t‘ﬁuﬁ‘?ds,’:éfu_.eé.h'{gﬁd"(}lzﬂJ&E;J:(:g + OR binary compounds? . .13
15 Ll AW A LI o il o St P
e e T
(xi} | \dentify the oxidizing and reducing agents in the Sodium is a soft metal and can be easily cut with a
following redox reactions: knife. Give its scientific reason.
(@) Mg + 2HCI > MgCL, + H, (D) 1;5 OR SPPSIT ( IPR (L  o |  P PRS SY N 14 03
2KCI+F, > 2KF +Cl, 1.5 S
_Q:/L-JE.;dfﬁ!ﬂgé;;;lf?l%bﬁﬁldJJ(fin}@ﬂ
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SECTION — C (Marks 20)

Note: Attempt the following questions. S IEY LYo W
Q.3 | Describe the formation of covalent bond in the What is an electrolytic cell? Enlist the possible uses
following compounds: of an electrolytic cell. {Any five)
(a) Nz (b) NHJ (C) 02 2x3 OR ((‘;gc—éﬁ-qﬁkaf/f‘d},l}iﬂ’lLJI?%t'ﬁl_ngf_ﬁf;}_al 145
_q/.:;u,JJ:@'stl,.:;{,fu:.z,yf/,}an
Q.4 | List the importance and uses of isotopes in various Electronic configuration of six elements is given
fields of life.(Any six} below. Mention their group number and period
_q/__’?w,wadL&,L%,ﬁ,’j&f:ufﬁﬁ&jﬁ numbf-.;rln gaenodlc table.
(e ih (a) ls",2s
ry
r (b) 1s2,2s'
{c) 1%, 25%,2p°
1x6 OR 1x6
X (d) 152, 25%,2p°, 35" X
(e) 1s%, 25%,2p°%, 35%,3p°
(f) 1s*, 25°,2p%, 35°,3p°
.,__A/rufdj,&?dxuLuf-c‘..fdm}?u?r.ﬂ/’glurﬁb‘m:a}b»
._L}_.:l'r'./.j:,l;ﬁulﬁ}
Q.5 | Write down some important applications of gold and How is ionic bond formed between following pairs
silver. of atoms? Explain in detail. .
) U:J___’ULJ,, i L el r 2+2 | OR i, (a) Na and F (b) Mg and CJ 242
-L}_’fyU:(}fv?u}&c_{kLJ{{fu?ﬂLu;‘.'.lnﬁéu
Q.6 | Explain the following cencentration units with How is Sodium metal produced by the electrolysis of
examples: fused NaCl on large scale? Explain.
-Q/J;'VLUJL';‘-“-P’L"’JU”{'@/P/IG}E‘M 242 | OR yw:?QJnI%qfu)l}glJNaCl 5.?3.’:!:2_54-‘/.&(»:(:3:’ 04
a Molarity d yis S
b Percentage C:" Z
—— 18A-| 24005- (B) —
SUPPLEMENTARY TABLE
Atomic No 1 2 3 4 5 6 7 g 9 10 11 12 13 14 15 16 17 18 19 20
Symbel H He | Li | Be B C N F Ne | Na i Mg [ Al | Si P S Ci Ar | K | Ca
Mass No 1 4 7 9 11 12 14 16 19 20 23 24 27 28 31 32 | 355 | 40 39 40
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G LIS L 2 Ly, INVigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| Question Jir A B c D Al e | c]|obp]
58.5 gram of NaCl and 95 gram of MgCI, |
1.  have equal number of: Electrons Protons Moles Atoms O O O O
sl o MgCl /95, NaCl 01/58.5] 51 24 Sy Hy A
\aa'\;'hlcr? statement at;out isotope of chlorine it has17 it has 17 It has 17 ts mass
3. nCl is NOT correct” electrons protons neutrons numberis35 | O O O QO
e b e AL 33 CL 3T L ¥ Sardw @7 | Gozrdongr | Samduzer |35 A
An element having electronic configuration
belongs to: f j
: ‘ Group=Vil Group=V Group=lI Group=il
3. _ 152,252,21—75 Period=2 Period=2 Period=5 Period=2 O O O O
Wnibg sl A A B PGS Vi Saske [Vaeaa=is ln=psSssks = azis
Which group has its valence electrons in p
4, sub-shell? ) Group l-A  {Group H-A Group I-A Group 11-B O O O O
it e put AILE AL S S e it [ TI-A S -Auer) Agr) 1-Buga/
ldentify the ionic compound:
5. HCl Kl Ci CCl
S BT 2 4 O O O O
The ionic sign of an element A of group VI-A
g. of periodic table will be: A 4™ A4~ A7
S al o FTEA S L LVIFA 7’f L vie\ S O O O O
A liquid boils when its vapour pressure
7. becomesequaltor |76 mmHg  1013x10° Pa {100 atm e O O O O
AT Y Py R et NP S T N e
A solution of NeOH has concentration of
4g/dm’. What mass of NaOH s
g contained in 250cm’ of this solution? 40g 20g g 2g O O O O
LJF 250cm’ o dgldm’ wa¢J¥F NaOH
Wr WK NaOH
in Fe,0,, the oxidation number of Fe is:
9. . S +2 +3 -2 -3
te A TE Fe st Fe,O, O O O O
What is being Oxidized in the given
reaction?
10. Mg +2HCl — MgCl, + H, Hdl Mg MegCl, H, O O O O
Tq_pzf‘/'i.‘iﬁ_if’/{ﬂ\)@i/.__;
Which of the following is least reactive? .
il Li Na K Rb
Tg‘_/‘t’bfu:(:".gdx(c_qa_ﬁa;bu O O O O
Which hydrogen halide is most reactive?
12, HF HCl HB HI
?q,_tnﬁgdmg);.qéf{}jw’w}ﬂ,bd/ C " O O O O
—15A-] 24005-1205%-(D)) —
SUPPLEMENTARY TABLE page 10f 1 ]
Atomic No i 2 [ 3] 4 5 | 6 | 7 ] 8 | 9 | 10 2L | 12 [ 13 ] 14|15 |18 | 17 | 18 | 13 | 20
[:] Symbo} H |#He | Li|Be| 8| c| N|oO FlNe|mwa | Mg | &l ! si| » |3 a | a | x| ca
Mass No 1 a | 7| ¢ | 121211411610 20 23 | 24 |27 {28 |31 [321355]|4a | 39 ]340
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SECTION — B (Marks 33)

Q.2  Answers the foillowing questions briefly. {11 x 3 = 33) AL ez L atlorn s 2 pf o
(i) | Differentiate between an element and a compound. | 1.5 OR Differentiate between diffusion and effusion of gases.| 1.5
Ll ol pn A0 L 1T5 LGP s E iR L 1*_-5
(i} | Describe the nature of an electrochemical How many moles are present in a block of ice that
processes. weighs 75g 7
. 03 | OR 03
St DES T 10K $Lunr e 758 wib RS L
(iiiy | Write electronic configuration of the following In which block, group and period of periodic table the
elements; elements having electronic configuration would be
(@) {C (b) j34r (c) 5Ca 3 | OR | placed?  (a)ls® (b)1s?,25*,2p%,3s' 1+2
.-u’-‘-dﬁuﬁugguﬂ/bgf(f/"i}"nﬁ@» ‘-'Z—Uﬁuﬂkffﬂl.gsfn.fﬂ:g/’r{_éfd)L-)?J.éar-.ﬂ/‘gu{u’?/‘b’u;@»
(iv} | Draw Bohr's modei for the following atoms indicating 0.85% mfv Solution of NaCT is used in intravenous
the location of electrons, protons and neutrons.
@ ¥CI  (b) “N 15 solution. What does 0.85%m/v mean. Which
P L + | OR | concentration unit is it? , 1+2
Loz sty 9 A7 SR Zukindtn | 15 0.85% mfv e tu S b 0.85% mfv € NaCl Uief o fi
YL 1A e S s e
{v) Explain briefly. S ol /,; . Draw electron dot and cross structures of following
- molecules;
a  Periodic Law S (@ COCl, (o) C,H, 1.5
0 , 1x3 | OR +
b Pericd L S NS LS | 15
c Group of modem .
periodic table o/ LdseSonse
(vi} | What is meant by atmospheric pressure? Write its Differentiate between empirical formula ™ and 15
four units. 1+2 | OR | molecular formula with examples. -
_u:"gugm /ngJl?q_.)f/_‘Lfa_/i/_:J/f’;’_l -u:;gl}G—UJ@J}L‘)L/J}Z—U!‘JG}{?LJJ'U,"JUL}Q ol 1.5
(vii) | What is meant by boiling point? Can water be boiled Explain briefly Octet and Duplet rules with examples. 15
at120°C? If yes, explain how? 1x3 | OR el B G LS skt e T |+
vl IS D 120°C S o oY e 506 15
{viii) | What is meant by allotropes? Briefly explain any two Briefly explain with examples.
aflotropes of )S,ulphur.. ! ' v Seld 3 2L
U oles A Sk L et AR -
J .JL:,/?"JJ e /J/ = Va2 1+2 | OR Solution J# 03
b Solute S
c Solvent S
{ix) | Benzene (C,H,) is a common organic solvent and identify the branch of chemistry in following
i examples:
can cause cancer. The recommended limit to ot 6 S L.
benzene exposure is 0.32mg per dm’ of air. ) LGS A b
Calculate the molarity of this solution. a  Use of Radiotherapy to triaat canc::er.' .,
Ein-g P oo A 2o eihedietee i (CH) 1% | 1gs | OR IR L Y 03
. . ) b Hydrocarbons occur naturally and can be
S+ uioe 032mg/ldm’ wnlyf i 220 0 synthesized in laboratory.
"L-Z/f’iyéﬂf _wi-uéufd}Jt_rgufl_ﬁngé_iu{J;JfJu}-dlgﬁﬂ,
¢ Pure metals are exfracted from their ores.
_ el i Fs P
(%) Which of the following pairs of liquids are miscible What is oxidation number? What is the common
and which are not? Explain with reason. oxidation state of group I-A and group VI-A elements
in bi ds?
(a) H,0 and CH, (b) C,H,and CCl, ) in binary compaun
x3 | OR | . . _ _ A a2
(©) H,0 and oil A PEAS P EVIA oo A -.__:d/j-{_l}’fgﬁ/(.ﬂ{((‘
; i, el et ST
-u:/u_kn:alfﬁ}?pﬂufc_wﬁslwdﬁ{c_dfgﬂuﬁ:’fdhf@» gud!nguJA_((' %
(xi} | ldentify the oxidizing and reducing agents in the What is meant by the term Nobel metals? How can
following redox reactions: they be oxidized?
(@) 2K +CL, - 2KCI+1, 15 oR Ce T ot st T e e SRS b 142
1.5

(b) H,S+Cl, —2HCI+S
_u_:/(cj_._% Jﬁl -ggfiv_usljflyf(ﬂ ui'rfdJu/fi_Juj’bﬂ
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SECTION — C (Marks 20)

Attempt the following questions.

LS Lty Rl

Q.3 | Describe single, double and triple covalent bond Explain the working and construction of Daniel Cell
formation using suitable examples. with the help of half reactions and labelled diagram.
o J&.fbi .L%Jf;,i/’uhj’-}cﬁ’i_ﬁf_/db"’l{uﬁﬁ'..:/L'# 23 | OR .., JJ.’.@.JJIAIrKZ.er«J';_;» J{_ﬁyxsiu‘i'gldxdk 2x3
| < o/
Q.4 | Describe Rutherford’s experiment with  its Electronic configuration of some atoms are given
conclusions and defects. below. Mention their group number and period
el L F G L NS f L sid number in periodic table.
(a) 157
(b) 1s*, 25'
(¢)1s%, 25%,2p°
4+2 OR (d) 132,232,2p5 1x6
(e) 1s", 2¢%,2p", 3%, 3p'
1] 1s%, 257, 2p%, 35%,3p°
.;;ju:d,,gd;»;‘:_ul_c‘..fde?u.ﬁruﬂ/‘gf(}//‘b‘J%o}fyu
—Uf@ﬁ}j.:f-ulﬁ}
Q.5 | Write down some important applications of platinum. How are ionic bond formed between following pairs
i J.'“’g_-,qul ol '.‘m of atoms?
MRECE | 1 | oR (a) Ca and O (b) Na and § 2+2
?wi{ig_{{‘Tuy;)Lus}zéukIJ—@;
Q.6 | How can percentage of solution be expressed in During large scale production of sodium from fused
different ways? Explain. NaCl, which gas is produced as a byproduct?
St e P e YR b S LS e i xa | oR | Explain the process using equations. i
Jgu'f o e Ll fir e NaCl 30 fariid
-{Z/’L)JJ&JJLf&L}JJJjJ'?%L?{:)!bLﬂJ{
e | S f 24005 D)) s
SUPPLEMENTARY TABLE )
Atomic No 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
Symbol H He | Li | Be B C N 0 F Ne Na Mg Al Si P S Ci Ar K Ca
Mass No 1 4 171 9 11§12 | 14| 16| 19 20 | 23 | 24 | 27| 28| 31| 32 |355) 40 | 39 | 40
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